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1. Asetis
(a) A collection of objects
(b) A well defined collection of objects
(c) A collection of objects with common property

(d) None of these

2. If f(x) = X“ and ' (1) = 10, then the value of k is :

(a) 10 (b) -10 (c) 1/10 (d) None
3. [**+D%ax s equal to

(@)  (+4)°+c (b) (2 +4°+c

(© z(x*+45+c d)  —G2+4)°+c
4. If f(x) = 100 x then f *(x) =

(a) 700 (b) 10236 (c) Hlo (d) None of these
5. If y=4x® - 7x* then dy/dx is

(a) 2x(14x* - 6x) (b) 2x(-14x*+6x) (c) 2x(14x%*+6x) (d) None.

6. | (\/E + \/i;) dx

(@ 2" (3x-1) ) 2 (Gx+1)

(c) ZGX + xl/z) (d)  None of these
7. The third quadrant is given by which of the following set ?

(@) {(x, y)/x<0,y<0} (b)  {(x,y)/x>0,y <0}

(c) {(x, y)/x <0, y > 0} (d) None
8. If X2 +y* = @ find Z—z.

@ 3 (b) = @ = @ 3
9. Integrate w.r.t x, (4x>+3x> -2x+5)

(a) x*+x% -x*+5 +c (b) x* -x3+x* -5x +C (c) x™x® -x*+5x +c (d) None
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The range of {(1, 3), (2, 5), (6, 7)} =

(a) {1, 2, 6} (b)
(c) {1,5,7} (d)
Let x = at3, y= z.% Then Z—z =

-1 -3a 1
(a) t_6 (b) t_6 (C) 3at6

{3,5,7}

None of these

(d) None of the above

If f: R - Ris a function, defined by f(x) = 10x — 7, if g(x) = f *(x), then the value of

g(x) is equal to

(a)

(b)

(c)

10x—-7 10x+7 10

1 1 x+7

@ =

IFAAB=(A—B)U(B—A) andA={1,2,3,4},B={3,5, 7} than AABis

@  {1,2,4,57)
(c) 1{1,2,3,4,57)
The derivative of x* log x is
(@) 1+2logx
(©)  x(1+2logx)
Integrate w.r.t x, x(x-1)*(2x+1)™*
(a) (1/3)[log(x-1)-(1/2)log(2x+1)]+c
(b) (1/3)[log(x-1)+log(2x+1)]+c
(c) (1/3)[log(x-1)+(1/2)log(2x+1)]+c
(d) None

Ify=e® findy".

(@)  6e* (b)  3e* (c)
[log (a¥) dx =

(@) loga (’;—2) n (b)
(c) xloga“—x+c (d)

(b) {3}

(d) None of these

(b) 2 log x

(d) None of these

12 (d)  9e*

log a (32—6) +c

xloga“+c

The relation ‘has the same mother as’ over the set of children

(a) Transitive (T) (b)
(c) Reflexive (R) (d)

m._n _ m+n . d_y
Ifx"y" = (x+vy) ,thenfmddx.

(a) (b) 2 (©)

x
y

Integrate w.r.t x, xe* (x+1)

(a) e* (x+1)? (b) e* (x+1)™" +c

(c) xe*(x+1) ™" +c

Symmetric (S)

Equivalence
None

Xy (d)

(d) None
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If f(x) = 2x + h then find f(x + h) — 2f(x)

(a) h —2x (b) 2x—h (c) 2x +h (d) None of these

[e* (x* + 2x) dx =
(@) x“e’+c (b) e .x+c
(c) —e’x’+cC (d) —e“.x+c

In the figure given below, the shaded region is given by the st

(a) A-B (b) A-C (c) A-(BnC() (d) (A-B)n(A-C)

dy .
If y = log x“ then d—z is equal to :

(a) log ex (b) Iogg (c) Iogg (d) 1
Integrate w.r.t x, (x>+1)>x’
(a) (1/4)(2X%+1)/(x*+1) +k (b) (1/4)(2x*+1)/(x*+1)? +k
(c) -(1/4)(2x*+1)/(x*+1)+k (d) -(1/4)(2x*+1)/(x*+1)* +k
If f(x) =x, thenfofof(x)="?
(@ X (b) X’ (c) X (d  x+1(x)
Ify = (x43 = x %), then dy/dx is
(a) 1—x24+x BB (b)  1+x 2+xP-x
(c) 1—x 24 x BB (d)  None of these
[(e* + €)% =
(a) e*+e®(x)+c (b) e“+e‘+c
(c) 0 (d) None
Ify=e alogx exloga' then Z_z —
(@) x“+a" (b) ax" '+a*loga
(c) ax? tixagl (d) x+a°
The anti — derivative of % is
@ (CHED . (o) CHED 4.
—(5+logx)?

(c) (d) None

2
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Which of the following is a true statement ?
(a) A-B=B-A (b)
(c) A-B=ANDB (d)

If f(x) = e®*° DX+ the f/(x) is

(a) eax2+bx+c (b)
(© 2ax +b (d)
el Hor-

@ S+ b) S+c (c)

AAB=(A—B)n (B-A)

(AUB) =A"UB

eax2+bx+C(2ax +b)

None of these

e* e X
7+C (d) _—xZ+C

Out of a total population in an area of 60000, 20000 read magazine A, 32000 read
magazine B, while 6000 read both. How many do not read any of these magazines ?

(a) 14000 (b) 42000 (c)

Find the fourth derivative of log[(3x+4)"? ]

46000 (d) 22000

(a) 243(3x+4)™ (b) -243(3x+4)™ (c) -243(4x+3)™ (d) None

[} (2x + 1)%dx =

(@  20/3 (b)  10/8 (c)
x=atly= 2at,3—z=?

(@) 1/t (b) -1/t (¢ t
Integration of 3 — 2x — x* will become

(@  —xX*-x/5 (b)
(€ 3x=xX+x/5+k (d)
If f(x) = log1ox then f(x) =

(@) 10 (b)  logioy (c)

The derivative of the function v/ x 4+ Vx is

1

(a) (b)

2y x+Vx
1 1
@ (i) @
The value of flz x2x+1 dx is equal to :
(@ g () (b)
(c) loge (5) —loge2 + ¢ (d)

IfA={10,8,9,7},B=1{6,7, 10,3}, thenB—-A="7

(@)  {10,8} (b) {9, 7} ()

26/6 (d) 27/7

(d) None of the above

3x—x>—x°/5+¢C

None of these

log10X d) x¥

2
1+ﬁ

None of these

2 1oee )

None of these

{6, 3} (d) None
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The null set is represented by
(@  {¢} (b)
If y=(5x* -6x* -7x+8)/(5x-6) then dy/dx is
(a) (75x" -120x> -30x°+72x-2)(5x-6)
(b) (75x* -120x°+30x* -72x+2)(5x-6)
(c) (75x* -120x° -30x°+72x+2)(5%-6)
(d) None
Integrate w.r.t x, (x+a)"

(a) (x+a)"/(n-1) +k (b) (x+a)"/n +k

{0}  (c)

(c) (x+a)

[0} (d) All of these

"™/(n+1) +k (d) None

If the universal set E = {x |x is positive integer < 25}, A={{2, 6, 8, 14, 22}, B = {4, 8§, 10,
14} then
(a) (AnB) =A"UB’ (b) (ANB) =A" NB’
(c) (A"nB) =0 (d) None of these
Ifu=3t*+ 5t3+2t2+t+4, then the value of%att=— lis:
(a) 0 (b) 1 (c) 2 (d) 5
Integrate w.r.t x, 5x°
(a) 10x (b) (3/5)x° +k (c) 5x +k (d) (5/3)x> +k
fJ%_de =
(@) =x732+c (b) %x‘3/2 +c (o) %x‘2/3 +c  (d) _?Zx‘3/2 +C
Ify = (x=1) (x+1), find £2.
(@) 2 (b) -1 ) 0 (d)




